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|
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Directions for the following 3 (five) items no. 1 to 5 :

The following 5 items are baszd on the following passage in English to test the comprehension of

English L.anguage and therefore these items do not have Hindi version.

frfeTiere 5 (97=) nemiett (Weo 1 & 5) ¥ fovg fodar -

ermfafer 5 metter ol % e aftede o e & ofir ofieh s 3 919 % qlewr 3 fro 31 o

& qeigll &1 el are Wi R o wmr B
Observe the dilemma of the fungus : it is a plant, but it possesses no chlorophyll. While all
other plants put the sun’s energy to work for them., combining the nutrients of ground and
air into the body structure, the chlorophyll’s fungus must look elsewhere for an energy
supply. It finds it in those other plants which, having received their energy free from sun,
relinquish’it at' some point in their cycle either to animals or to fungi.

In this-search for energy the fungus has become the earth’s major source of rot and
decay. Wherever you see mold forming on a piece of bread, or a pile of leaves turning to
compost, or a blown-down tree becoming pulp on the ground, you are watching a fungus
eating. Without fungus action the earth would be piled high withthe dead plant life of past
centuries. In fact, certain plants which contains resins that are toxic to fungi will last
indefinitely; specimens are redwood, for instance, can still be found resting on the forest
floor centuries after having being blown down.

1. The word, best describe the fungus as depicted in the passage, is :
*-/ (A) Unevolved (B) Sporadic (C) Parasitic ./ (D) Toxic

2. The passage states all the following about fungi, except :
(A) They are vastly different from other plants
\,/ (B) They are poisonous o resin-producing plants -
(C) They can’t produce their source of energy
(D) They can’t live completely apart from other plants

-~ 3. The line “you are w‘a?ing a fungus eating” is best described as ;
(E

«A (A) Contradictoryy /(E) Erroneous (C) Ironical - (D) Figurative

4. The author is mainly concerned with :
(A) Describing the actions of fungi = \/
\’/ (B) Warning people of the dangers of fungi
(C) Writing an essay on fungi
(D) Explaining the long life of some redwoods

5. The fungus generate energy from : /
(A) Sun (B) Other plants /' (C) Redwood (D) Decay itself,

%
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Directions for the following 5 (Five) items no. 6 to 10 :

Lod
*

Below in each item, two statements | and 1T are given, These Statements may be ejther
independent causes o may be effects of independent cause or 2 common cause, One of
these statements may be the effect of the other statcment. Read both the statements and
decide which of the following answer choice correctly depicts the relationship between
two statements, Mark answer :

(A) if statement T js the cause and statement 17 is itg effect.

(B) if statement IJ is the cause and Statement 1 is its effect.

(C) if both statements | and IT are independent causes,

(D) if both statements I and 1T are effects of independent causes.

ﬁmﬁ&aasm‘?a}nﬁfsﬁmc 6 7 10) 3 fmr frdor .

e

703/A

TS 900 SIS B 4 a1 o g Fﬁﬁ%l%mmm%rmwémﬁ?waﬁamm

%WWWW?TW?I%HWﬁ%@WWW?W%TW%Iﬁ:ﬁ?«?f.frﬁ

W@ﬁ-ﬁr%ﬁﬁq%ﬁmﬁ%mfﬁmﬁ%ﬁ?—mﬁwﬁ%aﬁamuﬁréﬁ%%ﬁa

FXA | T Farfes o

(A) 3 297 [ BR & afy oy I 3% g7 &

(B) Hﬁamrrw%aﬁ?mrm;:m%i

(C) % 3t o 1 oy A @y 2

(D) fr&im‘faemaﬁﬂm?rarwﬁ%m%l

Statement 1 : A few parents in the locality decided to stop sending their children to schooj
by private vehicles. : L

Statement II : Ty accidents of different private van carrying school children lead 10

deaths of few and injuries for many children,

FT [ mﬁwwﬁm%mﬁ:aﬁﬁﬁﬁﬁmﬁ?m?%ﬁw%%ﬁ

R
FAT I : wawWﬁmmmﬁﬁm#wWw%@Wﬁﬂaw
3 & =y i 2 )

Statement I : A Metro city observed the lowest t*mperature  of the Jast decade
accompanied by heavy fog during the weck, /
Statement I7 : Most of the flights from the city were iy dcﬁnite@ delayed causing panic
among the passengers, -_
FHTI: U UG O T g B HT PR 3 Ay et 3% @1 S A T
FAT ]I ¢ °mﬁwﬁmmwﬁ%amwﬁaﬁﬁaﬁﬁﬂ%wuﬁmﬁmmm%
Statement I : In last five years the job market has improved for professionally qualified
youth, \/l‘3
Statement I7 - Many veuths are not able to get jobs up to their expectations.
BT ] ; ﬁﬁﬁaﬁﬁﬁ%mﬁﬁmgwﬁ%wmﬁ%mﬁ@mgmf .
777 T RGN S T et o A § oy s 8, g (&)
Statement I : Durin g peak hours’ roads are overcrowded with vehicles cauz;iné traffic
Jjams in most parts of the city.,
Statemeni IT - Many automobile companies are planning to launch low price vehicles,

a
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FUT]: FWAT GHE S A 956 o1 § AU HWie-TS are & At € R Sy et F e
I § 2fthas S & A B
FUT 1] : TET-H1 A B FEET FF ST F arEa B 9 S B G &9 @ 5
Statement I : During evening hours’ roads are overcrowded with vehicles causing very
slow movement of vehicles.

Statement I1 : Air pollution level in the air has substantially increased in the recent past.
FUT [ TEEN & G S e G i - At & owdht & R awor arey # af agg
FY I : 7 e § g § 47g qEN0 &1 &R F 5% 9 98 7 B il _

Read the following two statements and answer the question given below : o\

, X
Statement I : A and B together complete the work in 10 days. s
Statement IT : A 1akes five days more than B to complete the work.

How long would it take A to complete the work ? To answer the Guestion, correct choice,
IS :

(A) Statement I alone is sufficient, but staternent II alone is not sufficient.

- (B) Statement II alone is sufficient, but [ statement alone is not sufficient.

703/A

(C) Both statement [ and II together are sufficient. ‘ J
(D) Each statement alone is sufficient. i
o 4 et a1 R ot i R T g o AP Lpe3sRE |
FITL: A AR B & e a0 &7 10 R # o a0 2 Ps ﬁ(/_}/!/,il‘
AT FE G WFE G B ATMASRTwawr el & B s
FE I EE E AR wme A aw e e A R, ad ey Y @L;,T

- r & A - . i L {S ;-',/ i
(A) FHATHYT | YA B, wih ihal 9 [[ 99 w8l & 2 2 2 aresh
(B) SR &9 11 9T &, 1t st e | ot e 21 Mﬂ__,-;’—-»-‘
(C) 3IMT 97 I &R 11 Framet wafa & . s G = A4t 657,

(D) T4 YT ThaT TH |

Four persons A, B. C and D share their prize amount of Rs. 1,00.000 in such a way that

/ﬁ)u-r times the A’s. three times the B’s, two times the C’s and D’s prize shares are equal.

-~ . - "F .
The sum of prize amounts of A and D is :

(A) Rs.40.000  (B) Rs.48,000  (C) Rs.54000 (D) Rs. 60,000 \/ |
TRARE A, B, C R D AT 1,00,000 599 3 [TER St T @ F @ a@ T aca e A &
gREER o &7 9, B % fewd &1 &9 T, C o D & fed @ S woft wem £l A R D &
R R P AT E -

(A) 40.000%F0 (B) . 48,000 ®o (C) 54,000%0 (D) 60,000 %o
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13. A piece of work can be done by 6 men and 3 women in 6 days or 3 men and 4 women in
10 days. It can be done by 9 men and 15 women in :

\/ (A) 8days (B) 5 days (C) 3days/ » (D) 2 days

i B W@Wﬁﬁwaﬁtswﬁaﬁsfﬁﬁ,m3maﬁmﬁﬁ10%&@&%&%@%
.. 9 359 3R 15 Afeamd R Rt & qu g a9

" ceet (a) R (B) 5R¥ () 3f= D) 2R

,_/.m“@ Suppose B takes 10% less time than A, to cover the same distance. If A walks at a rate of
,j/%, qﬂ\-?‘? km/h. then the speed of B in m/sec.. is - B
o 7./ I 7 5
Hiev (A) 22 B) 2- - C} 3— (D) 5=
aT & 9 5 (C) 5 _ 5
A T B &, T gl 9% &9 & g, A 2 aran 10% %7 77 577 21 afe A

A 9 km/h 31
NpC  FTETE B R misec F w7 g7

7 _ 1 7 5
(A) 25 (B) 25 (C) 35 (D) 5—9—
13. Two pipes A and B can fill a water tank in 24 minutes and 48 minutes respectively. [f
. p
/ﬁ\ both the pipes are opened simultaneously, then after what time the pipe B must be closcd
' @ﬁ' \_;?1 2. 80 that tank will be filled in 16 minutes ?
c”?/g\. Q}Eﬁgm 8 (B) 10 ) 12 D) 16

39T A 3R B UF 9T 3 75 5 mwr: 24 fﬁaz-aﬂws&mﬁq;{rmm%w&ﬁﬁmﬁ
/ !""fﬂ*\ww@afﬁaﬁ,ﬁmﬁw%mmBﬁﬁﬁh?@qﬁmﬁ%ﬁrmﬁﬁﬁwﬁ?

4
< (A) 8 (B) 10 @y 12. (D) 16 » v/
16.  The smallest number which when increased by 5 is completely divisible by 8. 11. and 24,
) V8N g
/ (A) 243 >4 (B) 259 \}( (C) 289 (D) 303 b
& T AT 71 8 ot o 5 & qorar o & 49 72 8, 11 &R 24 & quferay Ry & oyt 2 2
(A) 243 (B) 259 (C) 289 (D) 303
q‘-ﬁi\ 17. Ifx zyand (x + _v)2 =(x— y)2 . then which of the following must be true ?
o 1 (A) x+y=x-y (B) x+y=-(x~-y)
X AV ey A
) L (C) x=0%, (D) xy=0v
W - 5 5 : .
- R x 2y R (x4 )2 = (x= )" & T Freffas & & Siw-or w8 2 4 afa 2
N (B) x+y=-(x-y)
(€C) x=0 (D) xy=0

703/A
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18., Krishna has some hens and goats. If the total number of animal heads are 81 and total
number of animal legs are 234, then percentage of hens in total animals is :

(A) 45% (B) 54% (©) 55§% v (D) 59% b
W'ﬁ%wygﬁfﬁaﬁ?aﬁﬁﬁ%wﬁqﬂsﬁﬁaﬁwéwm%ﬁwgﬁﬁﬁﬁ@ﬂﬁ%
T g 9get # gt @ i &

(&) 45% (B) 54% © 552% D) 59%

The average age of A and B is 20 years. If C were to replace A, average would be 19 and
if C were to replace B, the average would be 21, The ages of C, B and A respectively are ;
(A) 18,20, 224 (B) 20,18,224/ (C) 18,22,20% (D) 20,22, 18 %

A S B %1 S omg 20 9 &1 aR A ¥ W w.C @1 95 2 41 37T 19 997 O 4 B 3 v o
cﬁﬁ%%a’raﬁwz1@1ﬂ|CT,BafﬂAa%engaw:%; )

(A) 18,20,22 B) 20, 18,22 (C) 18,22,20 (D) 20.22.18

"".?'ﬂ_-

20. Three numbers are such that first is twice the second and is half of the third. If the average
of three numbers is 56, the three numbers in order are :

V' (A) 48.24.96 v/ (B) 96.48,24  (C) 96,24,48 (D) 48,96, 24
i s g s & fo et ol a1 G & ol A 3 ot 21 af Y wenh @ s 56 2,
(A) 48.24.96 (B) 96,48, 24 (C) 96,24, 48 (D) 48,9624

Directions for the following 2 /Two) items no. 21 and 22:

In each of the following two items, a statemént is followed by some conclusion. Choose the
correct answer for the conclusion,

frefere 2 (3Y) momist (o 21 o 22) ¥ foro Frdser .
A T 7 geAielt ¥ 99 #, U 49 & 0 v Ry o & el & forg w1t oo g

21. Statement : After rice, raw cotton, cotton fabrics and carpets are a country’'s largest
foreign exchange earners.

Conclusion : At first rice was country’s largest foreign exchange earner. Subsequently it
was replaced by raw cotton and cotton fabrics. Now both these commoditics
have been replaced by carpets.

/ (A) Definitely true. (B) Probably true
7\ (C) Probably false (D) Definitely false /
FET ;AT & A FI, G FIE F a0 ofR w0 291 B Rl o & weer  onfm 2
Frerd : e e Aa 2ar A1 RRel g o g awr ontw an) THS 91E FIE HR G BT § 7@
T g W R £ w9 S ¥ 5 T avg et e 3 R
(A) Fmeraad s (B) #@vad: g8 &
(C) H9aT: Tod & (D) ffse &9 & e 2

703/A : 2. .10,
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g‘f Statement : The exercise has taught me that the silence is part of the spiritual discipline of
a votary of truth. Proneness to CXaggerate, to suppress or modifyv the truth
willingly or unwillingly is a natural weakness of man and silence is necessary
in order to suppress it,

Conclusion : Silence Is very essential for spiritual  growth. Without silence man
becomes gullible and distorts truth. For the discovery of truth. silence is
very essential,

(A) Definitely true (B)  Probably true

(C) Probably false (D) Definitely false

FYT erw%gﬁfé‘rf%a%m%%ﬁqaaﬁ%u ; cfr%amwﬁﬁqaaa;gsqumisr%s

aﬁs@ﬁﬁm#qﬁ‘f W G 7 afrer § we ﬁ‘rmm%ﬁ-—rvﬁqﬁamﬂm
ﬁmmwﬁa%%mmwm%m:ﬁ? 9T 2|
TR F ot e T 3 B 3 R, A a2 s )

(A) FiemarTasrs (B) #waw: w2
(C) Hwae: T s (D) Fftas &y & moe 2
@ The sum of all four digit numbers obtained by using digits 1,2,3 and 4, is :
Qj/ (A) 100000 (B) 60000 (©) 66600 (D) es660~""
3@ 1, 2, 3eﬁw4wﬁmmméﬁmﬁaﬁaﬁmwﬁﬁwﬁm%:
(A) 100000 (B) 60000 (C) 66600 . (D) 66660
~ %4, If average of four numbers is 20 and average of their squares is 500 then average of their
A= products taken two at a time, s : : s "
: " . o A p @Gé"{' :
A () 450 (B) 475 (C) 550 D) 650 (B

X% wRawgen Jéﬁwaﬂ'ﬁﬁ20%GﬁTEﬂ%H‘ﬁWGﬂWSOO%FﬁWW,WWﬁﬁﬁ@Q
& BT &t &
(A) 450 B) 475 (C) 550 (D) 650

9. , The incomes of A_and B are in ratio 4 : 3 and their expenditure are in ratio 5 : 2. If each

V@ Save Rs. 4.900. the expenses of B, is : B
us® L e(A) Rs. 1400 (B) Rs. 1,500 (C) Rs. 1.600 (D) Rs. 1.800

\g/'“;h -%Bﬁemd,:3%@3%&%@?6?%@#5:2%643117?%%@%??3%4.9006@%&%&?

_—

(o2 P E AB A &
<IN 1400 %0 (B) 1.500%0 (€)' 1.600 50 (D) 1.800 %o
R "}/ P ;
" @64 On selling an item at Rs. 40 er kg aloss of 10% is incurred. If total loss of the seller is
! Rs. 80, then weight of jtems sold in kg, is: ==~ .
7@ A 18/ (B) 20/~ €) 21 D) 24
AR

703/A ) 2 | e
i 4 A i": - _H.-—H-:"
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. 7
U T & 40 597 7 fesair &2 o 1094 I EIST TSI 95T &1 A fazsar 7 7w ey 8 59% B, T

9T S gl @ W R F 3
(&) 18 (3) 20 (C) 21 (D) 24
27. A shopkeeper claims to sel] items at no profit no loss. If he underweights items 800 gram
in place of one kg and adds 20% impurities, then his profit percentage will be - Gy B
—— N // BN, ,‘5-‘;& )
(A) 20 @) 30 (C) 50 (D) 55 e

@WHW#@%WE@W@WHWW%Jaﬁragzr@-mwwmmmﬁrw
fm & gz soomﬁm%eﬁiaﬂﬁm%%@ﬁm%ﬁr% T TqH A1 gigerT &

(A) 20 (B) 30 (C) 50 (D) 55

Directions for the following 3 (Three) items no. 28 to 30 :

-

Answer the following three items based on five numbers 386, 752,961, 573 and 839,
frferfaer 3 (i) mowrisit (Fo 28 % 30) % frrw frdsr.

ot demsit 386, 752, 961. 573 3R 839 4 arenfyy ﬁwﬁ‘rf@agﬁ-—r FEIST % T )
T ad® 9y i1k 517 i3

28. Ifin each number the second and the third digits are interchanged, what will be the sum of
the first and third digits of the largest number ?

\/ (A) 10 (B) 12 () 18 // (D) 17

(A) 10 (B) 12 (C) 15 (D) 17

28. If in each number, unit and hundredth placed digits are interchanged. the lowest number
so formed is :

\,/ (A) 375 (B) 257 (C) 161 (D) 169 L/‘v,/
ﬁmmﬁm*ﬁmmmmm%mﬁwﬁmm%wmaﬁrw
'@RFI'F@T%‘

(A) 375 (B) 257 (C) 161 (D) 169

30. The number at unit place, of sum of numbers at unit places of given five numbers. i -

(A) 1 (B) 2 (C) 3 m) 5
\/ ﬁgﬁamﬁ%mwmw@mﬁ%mmm%mwﬁm%;
(A) 1w B) 2 © 3 (D) 5

703/A P.7T. O
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) 4
v/ 31, The probabilities of four mutually exclusive and exhaustive events A. B. C and D, satisfy
M the relation : 2P(A) = 3P(B) = 4P(C)=6P(D). The probability of event C is
. '
s VRS ey s B) 15,/ (C) 4/15 (D) 2/5
S D R % £ o
%) T TTR q9afT @R Frd gewrsi A, B, C ok D & wiEad @4y : 2P(A) = 3P(B) = 4P(C)
o, =6P(D) 3 T FE Bl 5o C # i & -
uf
(A) 2/15 (B) 1/5 (C) 4/15 " (D) 2/5
s A 32, A student has 1234 marbles. He wants 1o arrange them in equal number of rows and
4’ 5. w0y \ columns. The minimum number of marbles that he nced more for this purpose arc :
i’/'};’ b T (A) 62 ¢ \/ B) 9 - (€) 3 (D) 1
4 7| o Rl B o 1034 39 8 TR ST TN WA qelt U i e # wmr s &) 39 SEsY
/K_: % 0 sfift &t 8t mem e, R o SHTTSHEHT B, B
-/ f !

L1E L (A) 62 B) 9 () 3 (D) 1
k P ;
C {/ Three persons A, B. C had different amount of money with them. C had an amount cqual
~ to the average of their total. A spent half of his monzv. B spent 2/3 of his money and C
L~ ) spentall of his money. The remaining amount with them is equal to half the amount. 3

{9(3‘; initially have. The percentage of total amount spent by all together. is :
7 ,
L-' /& (A) 50% (B) 75% / (C) 80% (D) 90%
‘ " 9 afRET A B. C % W aFerT-araw gt &) afs O @ TR AT AR o Fw ol ¥ shwe
& B F TR A S el A e a AT R, B e 23 T 23 Y 37 ® $fY C ot oft 1y
=R I 2 O A % o w4t 5f ofy, B B I W el F e S B & UTg g8 ¥ ot adh
e A % ar & o Hw Ol w g &
(A) 50% (B) 75% (C) 80% (D) 90%

2%, Directions for the following 2 (two) items no. 34 and 35 ]
Read the information given below and answer the two items that follow -

Five cities A, B, C. D and E are famous for one among : big gé‘dcns. nlg_g cducational

= Institutions. mountains and scents but not in the same order. = o ==
'\-"J ’5 ac | 4 fﬁL‘_ﬁ‘_ﬁa_ﬁl”\ : T0 e o
ol . (1) Aand C has neither educational centers nor have big gardens. W‘" b/!g). A
i - g - — - SM = ( ‘ i

/ = I ; . S NG5 =i r~ed

Pk = « (i) BandE are not famous for rivers or mountains. pron et

\ 6 ) =i ﬁ

-4 g (iii) Scents and rivers have nothing to do with city A. 2
560 . «; ; (iv) D and E are not famous for big gardens and rivers. _
" L ~ - . . . . . - Y

" (v) D isnot famous for educational institutions. Guandp-

e '_".0_ o :
;/ Q}g&e/ >

" 703/A s : t""3/
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frferfere 2 (31) wemtiett (#o 34 31X 35) % forw frdar
¥ <t 7 S @ afe iR e g T O A S ¥ oo AR -
YE YR A, B, C,D3RE T § 0% % fog oftg € : 92 vam, ey QarfirE wea, o of 7w
oI 59 8 § 957
(1)  ASRCHT T dale &5 § ofiv 7 & & sum)
(i) B 3R E 7R a1 ot = fare gfee 787 &
(iii) 98T A &7 5 3R AMLE F WY $iE A7 & 2|
(iv) D 3 E a8 sant o wf4t % e ofrg 78 2
(v) D feres sremi  faw ofeg 75 3
34. The city E is-famous for :
(A) Rivers)f\ (B) Biggardens X
\,-/ (C) Educational Institutions .\/\/’ ({.’)) Scents.
9 E fous o afeg g 2~

C(A) AT ('B) T3 T :
(C) Srarfirs ey (D) &= '

@ Which of the following city is famous for big gardens ? v
il (B) E 3 ¢ % (D) BV~
ML fomefien % & shw-an ot 72 <ot P g & 7

(A) D (B)ry) (C) C (D) B
Directions for the following 5 (f've) itéms no. 36 to 40 :

The following 3 items are based on the following passage in English to test the comprehension of
English Language and therefore these items do not have Hindi version. .

fFrtforiae 5 (aten) geisit (do 36 i 40) F fomo et

Both plants and animals of many sorts show remarkable changes in form, structure.
growth habits and even mode of reproduction in becoming adapted to different climate
environment, types of food supply, or mode of living. This divergence in response to
evolution is commonly expressed by altering the form and function of some parts or parts
of the organism, the original identity of which is clearly discernible. Fou example,
creeping foot of the snail is seen in related marine pteropods to be modified into a
flapping organ useful for swimming, and is changed into prehensile arms that bear

703/A _ PG
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sectorial disks in the squids and other cephalopods. The limbs of various mammals arc
modified according to several different modes of life — for swift running (cursorial) as in
the horse and antelope. for swinging in trees (arboreal) as in the monkeys. for digging
(fossorial) as in the moles and gophers, for flying (voiant) as in the bats, for swimming
(aquatic) as in the seals, whales and dolphins and for other adaptations. The structurcs or
organs that show main change in connection with this adaptive divergence are commonly
identified readily as homologous. in spite of great alterations.

36. The most appropriate title for the passage. based on its content. is -
/ (A) Adaptive Divergence -« \// (B) Evolution
(C) Unusual Structures (D) Changes in Organs

37. The word that can be best substituted for “homologous™ without substantially changing
the author's meaning, is :

\/(A) Altered (B) Mammalian (C) Corresponding%)) Divergent
38. The creeping foot of the snail is seen in related marine pteropods to be modified into a
flapping organ useful for : &
v/ (A) Biting (B) Swinging (C) Swimming * (D) Jumping

39. The author in this paragraph not provide information on :
(A)  Factors causes change in organisms *
(B) How are the horse legs related to seals flippers

7L (C) Limbs of various mammals
(D) Theory of evolution \/

C@J The author’s style can best be described as

(A) Humorous . (B) Patronizing (C) Esoteric (D) Objective \/
@ﬁ[‘ he remainder when a number 2851 « (2‘862)2 P (_287’3)3 s divided by 23.is:

(A) 5 (B) 17 ©) 18/ (D) 19

S UF A 2851 x (2862)° x (2873)° F1 23 & R Fvar e & SRR S

(A) 5 (B) 17 (C) 18 (D) 19

42. \, The number of zeros at the end of the number obtained, b multiplying the numbers from

@//’I to 100 will be ; -,
%{'AJ 16 (B) 20 (C) 24. v/ (D) 36

g 1%‘rlooaﬂﬁmﬁa@r@ﬁa‘rg@nmﬁwmgéM%aiﬁﬁ%ﬁaﬁﬁ?
(A) 16 (B) 20 (C) 24 (D) 36

703/A
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5
47.>
L

- 2° e
(@ “Ip

e

10% more, is :

(€)

(B) 8% 15%

. W}%@fiﬁn

\.Ai .

Hls\p\ercentage change in profit. if he

——
b’\'?"") )’)—’ﬂ ,‘.{.
(D) 20%\)”’ S e (ish

50 ~
T =fTh U 95 &1 I8 20% & a9 i e 21 3 97 20% PH T RG Tl T R swm
10% 1fiyds WX &=reft &, 1 w7 & e qftad & - ey
| | N Ll 5 ZCJ
0 ) b 0 20%
" (A) 50% (B) 8% (C) 15% (D) 20 C'E,F"@
4‘}‘/’ The triangle ABC with perimeter 56 and sides BC = *1,AB=4x and AC=5(x—1) is%f"

type : V% P S i el % S
(A) Right angle triangle (B) Obtuse angle wriangle poom

(C) Equilateral triangle

78 B ABC ¥ s a1 & foreranr ot 56 3t somd BC = x + 1, 4
g7 '

(A) &R Bryw (B) 3ifass o s
(C) warg By (D) wizETg faw

45. The first bunch of bananas has 1.3 times excess to as many b
bunch. If difference of bananas in two bunches is 12, then total n
/ bunches, is : - :
(A) 46 (B) 40 b (C) 63 =",
e & e T2 A gt T B Je i 1.3 77 9w B 2
Tt § T bl B GEAT B -

Y,

TS o o g %1 oy 7 S 45 T 2| 977 99 97T I 3
1 IR AT A1 T &% g % oy F o) @ g &
(A) 72 - (B) (C) 90

3

of the measures of other three angles. The measure of angle X, is
(A) 150 (B) =0 (C) 120
IR AGHT WXYZ §, 30 Z 37

AT E
(A) 150 (B) 30\/ (C) 120

|

|

.’! -l- :
L

o
¢

-

EVS P

(D) Isosceles triangle

I 51 A 0 5 A 3 o % g &

O

P
B=4x3dRAC=5@x-1)

ananas as in the second
umber of bananas in two

YT
(D) _‘9‘__ -l..// ie

w&mg@rﬁmwm 12 2, @7 SF

(D) 92

the product of their ages

(D) 54

(A) 46 (B) 40 (C) 63
@7 The sum of ages of a father and son is 45 years. Five vears ago
" was four times the father’s age at that time. The twice the difference. of father and son’s
age is :
(A) 72 (B) 45 (C) 90 \/

T &1 TUe 38§99 9 e &7 a1y

(D) 54

; In cyclic quadrilateral WXYZ, the measure of angle Z is 10 more than twice the average

W

1

(D) 60 o
10 3Ffers 2| Fror X &7

(D) 60

us

P T Vit
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48. Brand I solution of sugar syrup has 15% sugar afd another brand II, solution has 5%
sugar. The quantity in litres of the second solutiop, must be added to 20 litres of first
solution to make a solution of 10%, is 2 ‘ A

/ (A) 5 B) 10 (C) 15 D) 20 0/
= % O % AT % A § 15% # & o o g 11 3 v & 5% I 8 wEw g &
20 fores = # 3w O A Rl T, R FaeiTé ST AR 1R 97 109% At 2 8y 39 77 0
(A) 5 (B) 10 (C) 15 (D) 20

Directions for the following 2 (two) items no. 49 and 50 :
Read the information given below and answer the two items that follow :
(1) " P,Q.R, S. T and U are six members of a family, zach of them are engaged in some
different professions viz. Doctor. Lawyer, Professo-, Engineer. Pilot and Manager.
(ii) Each of them stay at home on different day of the week. starting from Monday to
Saturday.
(iti) The Lawyer, in the family stay at home on Thursdav,
(iv) R remains at home on Tuesday.
(v) P isadoctor by profession. does not stay at home on Wednesday and Saturday.
(vi) S is neither the Doctor nor a Professor and remains at home on Friday. |
(vii) Q is the Engineer and T is the Manager.
frreferfas 2 (41) weioft (Fo 49 oy 50) % foru forder
ﬁ?aﬁammﬁq%qeﬂwmvmaﬁmﬁgmﬁ%m*ﬁr
) P QR S, TR U UF TaR 5 5 7w & 57 & 7 0 P ey & oo & 32 5

) ' 5, S g 2 %, H9TE & U %9 BT | 9% o1 s 2
(i) TRAT T T TEIL L o Tz B -—

(iv) R &R 9% H9ER 37 s30T 2
(V) P T8 § U5 SR 8, 78 0 W AR 37 9FER o 78 e
(vi) saﬂﬁm%-ﬁwéwm@?wmﬂwﬁﬁm%r

e e 3 A "'\\.I ; 1 ;
(vii) Q3 g R T &9 ® e o~

49. Who is the Pilot ? p fw il etk
(A) S a prs
(B) R C{‘ =
() U R Twed eﬁ?ﬂ?‘»

~ - . . . -~ . - cmp—— -
(D) Can’t be determined from given information B P 1T
UTIEE FIT B 7 3 predy. | o
(f\] S ¥ \/ /"_ yV o
(B) R /
© U | O e e
(D) 1 Sl § PrafRa 8 R ot g e =

703/A
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50. Which of the following combination is correct ?

(A) Pilot-Friday @\ (B) Lawyer-Tucsday
(C) Professor-chncsday (D) Engincer-'l“hursday
/ %ﬂﬁﬁaﬁﬁéﬁﬁ-mwm%? :
: (A) TITE-FFAR (B) THId-HueEr

(C) HrEeR-guan (D) sifaRTEr

Directions for the following 5 (five) items no, S1to55: gﬂl"‘.

The following 5 items are based on the following passage in English to test the comprehension of

English Language and therefore these items do not have Hindi version.

Frforfer 5 (ate) memisit (Fo 51 & 55) % forw farger -

frfofes s H?Wﬂ-m%ﬁwmqmﬂ‘mg@TWW%Q‘FW%WW%W?! o

& TR 1 Rt ure 7 frar oy 1y 3
“The emancipation of women,” James Joyce told one of his friends, “has caused the
greatest revolution in our time in the most Important relationship there is — thay between
men and women.” Other modernists agreed : Virginia Woolf, claimin g that in about 1910
“human character changed,” and, illustrating the new balance between the sexes, urged,
“read the *Agamemnon.® and see whether — your Sympathies are not almost- entirely with
Clytemnestra.” D, 1. Lawrence wrote, “perhaps the deepest fight for 2000 years and
more, has been the fight for women'’s independence,”

But if modernist writers considered women’s revolt against men’s domination one of
their greatest and deepest themes, only recently — in perhaps the past 15 vears — has
literary eriticism begun to catch up with it. Not that the images of sexual antagonism that
abound in modern literature have gone unremarked, far from it. But what we are able 10
see in literary works depends on the perspectives we bring to them, and now that women —
enough 0 make a difference are reforming canons are interpreting literature, the
landscapes of literary history and the features of individual books have begun to change.

S1.  The title, best describe the content of the passage, is :
(A) Towards a New Criticism
(B)  Modernist Writers and the Search for Equality
}Q (C) The Meaning of Literacy Works
(D) Transforming Literature |
52. The author’s attitude toward women’s reformation of literary canons can best be described

as one of :
% (A) Skepticism (B) Endorscment\/(C) Indifference (D) Ambivalence -

703/A 2L
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53. The author quotes James Joyce, Virginia Woolf, and I3, H. Lawrence primarily in order to

show that :

(A) These were feminist writers

(B) Although well-meaning, they were ineffectual

(C) Modern literature is dependent on the women's movement <
(D) The interest in feminist issues is not new ‘/‘

34. According to passage. women are changing literary criticism by :

i

(A) Noting instances of hostility between men and women
(B) Studying the works of early twentieth century writers
(C) Reviewing books written by feminists -

(D) Seeing literature from fresh points of view \/

35.  The word not describe the meaning of “emancipation™, is :

|
[

ﬁ(A) Freedom (B) Liberation (C) Restraint - \/D) Freeing

2 ! e o - - .
66 The number of different pizza orders can a customer place. if he has options with 3

58.

different crusts. 2 sauces and 10 different toppings are :

(A) 120 (B) 60 (C) 216 (D) 64

U 6% a1 3 o1 5 anr Riftey Ry aﬁﬁ#ﬁwﬁm‘réﬁﬁ,w&aﬂ%ws faf¥rar ot
(F), 2 T (8F) ot 10 fafirer 2t & famey & 2

(A) 120 B) 60 /" ©) 216 (D) 64

7. Kanika said to her friend that yesterday. I attended the birthday party of the son of the

only son-in-law of my mother’s mother. How is Kanika related to the man whose birthday

>\ party she attended ?
3{‘\/' (A) Daughter (B) Mother (C) Sister ¥ (D) Niece

ST % TS 0t & v P v 8 ol A 8 5 s <o o 2 o st 5 o
ﬁﬂiﬁﬁﬁr:ﬁﬂ%q%ﬂmmﬁh%ﬁWWﬁ?Wﬁ“mwﬁw

(A) T (B) #maT (C) a&=v (D) vt /it
The next Wber in series 2, 3/2, 10/3. 15/4. 26/5. i 1807 % 73
iy oy _ 0o T L S ey : o LGF
SV ¢, 32 1. ¢ B nd P o3 TILA
AY B2 a89 B) 6=% "0 v$_ 1= W7V ) 82
J W S ® g W R, }‘-/’z/ ' %%
| it 2, 3/2, 10/3, 15/4, 26/5, ... 3 ST HET %
A) 53 (B) 61 @ 72 D) 82
6 6 6 | 6

703/A
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59.

The three of the following are alike in a certain way so as to form a similar group. Which
one does not belong to that group ?

(A) Plant (E) Branch (C) Root (D) Leaf
%ﬁ%nﬁmwﬁﬁwn@wgﬁnwm?wwwma F-8T 0% 9 -
e &7 a7 78 %

(A fr‘éﬂ./ (B) &t C) == (D) it

60. If the sum of squares of 3 distinct numbers is 1, then the sum of their product taken two at

61.

62.

. (/
v

a time, IlLs in between :

(A) —= and 1 \/(B 5 and = (C) 2~1— and I ®) -2 and %

afrfé (C) }-eﬂ'{l (D) —iaﬁri
2 2 2

The *Shoe’ is related to Leather in th\::?ne way as ‘Rubber’ is related to :

A) Plastic (B) Latex (C) Polythene (D) Sleeper
I 993 § S 6 gEr gdfg £ 3 5 ¢ ECEHCIE R
(A) s § (B) #tag# (C) whir¥ (D) & &

Nupur walks 9 km East, turns South- West and walks another 8 km. She again takes a turn
towards North-West and walks another 4 km. In which direction from her starting pom}/

o 7 3
/,:,he standing now v/ ' o i 3
(A) South-East +V(B) North- East (C) West (D) East O

TR T3 37 &R 9 forft ey fﬁﬂmw-m#mﬁzgﬁ%-ﬁs%ﬁwﬁr%iﬁgﬁ:ma-m
Eﬁrmg@“r%sﬂwa—mr%ramﬁ%lﬁmmﬁg%ﬁmﬁswﬁmaﬁ%?
(A) =fergd (B) ww-gd (C) gfeaw (D) 7

63. The sequence of missing alphabets in the series PQRS | @RSP RS P SPQ Ris :
/(A) SQQPR (B) TTSQR (C) SSQQR (D) SQPQB;{/
\/ 70 PQR | RSP|RS | SPQ _ # srgafeer arerdl a1 argam & -
(A) SQQPR (B) TTSQR (C) SSQQR (D) SQPQR
4,/ In Chess tournament each player wil] play with all other players twice. If total matches

703/A

played in the tournament are 272. then the number of players who participated js :

(A) 16 ®B) 17/ ©) 19 (D) 23
smmwgﬁwﬁmwm—%mwa@#mﬁm%wﬁm@ﬁmﬁwmﬁﬁmﬁ
T 272 RF G 7, Wmmﬁm#méﬁaﬁf@a@mﬁﬂw%. | ¢, #
(A) 16 w5 (B) 17 \ (C) 19

W2, A
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65. Ifthe word ‘TEMPLE' 1s coded as 'HQURL’, then code for word ‘SlITARAM'. is :
/q) ULXFXHU V (B) ULXFYHU (C) ULXGXHV (D) ULXFXHv
I 9= TEMPLE® 2 "VHQURL' & Feag fmr o g, O = ‘SITARAM® & fg o5e 2
(A) ULXFXHU (B) ULXFYHU (C) ULXGXHV (D) ULXFXHYV
Directions for the following 4 (Four) items po, 66 to 69 -

Read the information given below and answer the four itens that follow :
Once, an ant who had come to drink at a Stream, fe'l into the water and was carried gu
by the swift current. She was in great danger of drowning. A dove, perched on a near
tree. observed the ant’s danger and dropped a leaf into the water. The ant climbed or

the dove asleep and look a careful aim with hjs gun. He was about to fire. when the ar
who was nearby. crawled forward and piy him sharply on the ankle. The hunter missed h
aim and the Joud noise of the gun awakened the dove from her sleep. She saw the dang
and flew swi ftly away to safety. Thus, the ant repaid the dove, for having saved her |; fe i
the foaming current of the stream,

ﬁwﬁrﬁ&mat(ammafsﬁ (Ho 667 69) ¥ fora farsfor .

?ﬁ@"ff’??ﬁmfrﬁW%QEﬂTw%qwqaﬁmwgsﬁsﬁ%aﬁﬁﬁq:
Q%mwﬁﬁﬁ@ﬁwq@tﬁ%maﬁ,wffﬁiw:%aﬁ"{hamkmaaﬁw’ﬂ 9% g
%a%@ﬁﬁﬁﬁr@@ma’r%ﬁaﬁﬁswéagmm T W & w5y gy S Ot % 1

66. The ant repaid the dove by :

(A) Having love with dove (B) Droping leaf in water

\/ (C) Saving the Jife of dove from animals (D) Biting the hunter .» /
e ¥ B 77 ey T
(A) TIRE a5 (B) qﬁ%‘rm"rf#ﬁmr

(©) aﬂm%sﬁwﬁmmﬁﬁm (D) {5t #reay
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67. The dove was in danger because :

/
+(A) A hunter was about to shoot him - (B) There was some big animal nearby

\/ ' (C) It had fallen off the branch (D) Carried away by the swift current
FAT T § A7 FIT
(A) T @R SH@T T 9 a1 47 (B) U =81 ST HF-99 41
(C) & =l ¥ A PR &7 (D) 9% I 9T 3 &7 e v
68. The dove dropped a leaf into the water to :
(A) Drown the ant ' (B) Savetheant * \/
/ (C) Measure the current level (D) Perchon it
V' g § ol # e e .
(A) diE & gare v & fag (B) @& @ gam & g
(C) 77 & WX HE & faw (DY s RBarm awe & o
68. The ant came to the stream tc :
(A) Carry out some water for kids (B) -Look at the swift current
(C) Drink fromit | \/ (D) Take bath in it
/" < e e o |
4 (A) == & foq & ol @ & R (B) & g @ 3= % fw
(C) =9d & a6 & forg (D) &4 & & fg

70. The difference between the interest received from two different banks on Rs. 750 for 2
years is Rs. 90. The difference between simple interest rate charged by two banks. is :

. (A) 2% (B) 4% © v (D) 8%
v TYY 750 W2 I % o & S-St d6i § g & & R B9 90 21 37 a9 & O e
IR &7 &Y & o1 S 8 s ,ﬁ%}é'
(A) 2% (B) 4% (C) 6% (D) 8% FASY
Directions for the following 3 (Fivz) items no. 71 to 75 : @ -

Read the information given below and answer the five items that follow :
In each question below are given four statements followed by three conclusions numbered
I, IT and III. You have to assume the given statements to be true even if they seem to be
deviate from commonly known facts. Read all the conclusions and then decide which of
the given conclusions logically follows from the given statements. disregarding
commonly known facts.

T03/A P. T. Q.

e e T B (A e R (A (1 e (6 S T T e T

fi
i
i
i
|
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ﬁrﬂﬁ‘%‘r%ErS(ﬁ?nmﬁ"rsﬁ(ﬁo 71 & 75) % forw fordor
ﬁﬁﬁmﬁﬁw&q@ﬁmqﬁmmﬁﬁagmﬁ%mﬁﬁm

7 i 2

72,

703/A

Statements :

All desks are pillars,

All pillars are circles.

Some circles are squares.

Some squares are rectangles.
Conclusions : L

I. Some rectangles are pillars. T

Il Some circles are desks.\/ ..

III. - Some squares are desks,~— /
(A) Only I follows (B) Only II follows

(C) Only III follows (D) Only I and II follow
FET .

T 3w T €
w47 7wy g #
B I9 T £
B T maT 2|
ferewef
I 0 amag g 8
II. 939 &3
. & 37 &5 &)
(A) 9 | ST e 3 (B) 4 IT Sraeor aer &
(C) F9 II1 STgaw ot & (D) e 1 3 11 sy o &

Statements ;

Some plates are knives.

All knives are chains.

Some chains are wheels.

All wheels are poles.
Conclusions :

L Some poles are chains.x/

II.  Some wheels are kn'fi??i%(‘

III.  Some chains are plates. >
(A) Only I follows ' (B) Only I and III follow = \/
(C) OnlyIand II follow (D) Only Il and III follow

Downloaded from www.cclchapter.com
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FYT :
FB @ 71F &

TT T S 2

FB o ufed 2

gt ofEd oy 2
frrewf :

. F® 9 ook 2]

I %o ufey =g 2

I Fo i @ & . |
(A) &I [ AT FT & (B) &aw I &R [I1 rgaewr ae &
(C) w1 R I ey e & (D) &a 11 &% 11T STaaer &y &

Statements :
Some roses are flowers.
Some flowers are buds.

All buds are leaves.

All leaves are plants.
Conclusions :

[ Some plants are ﬂowers/

Il Some roses are buds. y_

III.  No leaves are roses. 7L

E—

(A) Only I follows (B) Only I and II follow \,/
(C) Only I and III follow (D) Only II and III\ follow
FYT
F© 99 % 2|

B G Bhordr 2|

PO Hierat aiear 8

AT aferar i 2
st -

I %ouY gy &

.  F© 919 et 3

1. &7 9 o 78 2
(A) Faa I TR otar 2 (B) %% I 3% 11 araor g &
(C) Fal &R III ergerer & & (D) e I1 3 1T ST ey &

R D)

oy g tae —a ey i L R T S Ry Waie i e e P e i A b 4 sL2 - el s Y e S x s & e+ Y = B
=1 — Sr - e e T RS e e ——— T
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74. Statements :
Some shoes are socks.
All socks are towels.
All towels are bedsheets.
No bedsheet is blanket.
Conclusions : _
. No towel is blanket. \/
\// ' Il Some shoes are towels.v/ rJ./‘
III.  Some shoes are bedsheets, \/
(A) Only I and 1I follow
(C) Only II and 11T follow
FoT -
FO I 9 €
T A Afery &)
Tt Fiferdr ey §
PIE BT Hae 987 &
L &7 fiferr weam 74 &)
I 5T e &)
M. 359 =y 8]
(A) % 1 3R 1T srgamw a7y &
(C) ¥ 1 R I srperor oy &

75. Statements ; _
All chairs are tables,
All tables are telephones.
All telephones are cell phones.

(B) Only I and II1 folloy
(D) All follow ‘/\\/

(B) %A I &% 111 argereor oy &
(D) &t argaee &

No cell phone is computer, C/_//

Conclusions :
L. All cell phones are tables. K
II.  Some chairs are computers. 7c\
III. No chair is computer. /

(A) Only I follows

(C) Only IIT follows” o - \/

703/A

(B) Only II foliows
(D) Only either IT or I follows
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FYT ;
T ST 55 &
a7 A5 i
T SlE e &
BIE FEBIT Fey 78 3|
et
L & e 55 8
L. %o gt s 3
UL %7 g gy 74 2
(A) FT | STaTT @y 2
= (C) 9T 1M Sy oy &

(B) %8 11 ey ey &

?‘ﬁ. /] The number of times 3 appear, number writing from | IQ_EQQ, 1S : /
(A) 243 (B) 246 | ¢C) 297 (D) 3001~
1§ 1000 7% Femt Ry o7 % 3 fHa 9N v e 2
© (A) 243 (B) 246 (C) 297 (D) 300

Directions for the following 4 (Four) items no. 77 to 80 :

Read the information given below and answer the four items that follow :

(D) &a& ar & 14 ST HTaT &

21

The modern civilization i completely depending on energy. which has therefore 1o be
abundant and also €conomical. About 90% of the world’s cnergy is supplied by oil, coal
and natural gas, while nuclear, hydro, wind and solar power and biomass supply the rest.

Coal, nuclear and hydro are used primarily 1o gencrate electricity while natural gas is
e e b ——————— L ——
widely used for heating. Biomass js used both for heating and cooking. The wind and
solar power is the future’s liope as they are sustainable energy sources. O] powers almost
all machines that move and that makes oj] uniquely versatile. Oj] powered airplanes carry
500 people across the widest oceans at nearly the speed of sound. Oil powered machines

produce and transport food. Oj] powered machines are ubiquitous, Clearly, we live in

the

age of oil but it is drawing to a close. According to datg available if oil production
remains constant untj] jis gone, there is enough to last 42 years. Oil wells will produce

less as they become depleted, which wil] make it impossible (o keep production constant.
Similarly, natura] gas and coal will last another 61 years and 133 years respectively.

crisis. If we are to survive on this planet, we have 1o make a transition to sustainable

703/A P. T.0,

r . himg & g S . T T o e i T e R e s pellimn o o, i
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The drawing era of limited and expensive energy will be very difficuit for evervone o
carth but wil] be even more difficult if it is not anticipated. Tt is of utmost importance tha
the public and policy makers understand the global energy crisis and act fast to ensure tha
the energy sources do not become extinct.

e 4 (FW) 97T (Fo 77 & 80) F fRrw frfar .

SR

77.

78.

T03/A

eﬁwﬁwrﬁwaﬂraasﬁwwﬁwmmammmfﬁﬁmﬁmﬁwa,—rwﬁwém

wmﬁ%éﬁwwm%mwﬁwammwmmﬁmmw
WWamﬁw;aﬁmﬁ,m@%@ﬂwﬁnmmwm T R 133 75 w5 o T
T wY &, wﬁaims’%m%umam% %vﬁﬁéawﬁwmmﬁa%
memaméﬁwmziﬁam%ﬂmwmmyqﬁrwm

=

The theme of the passage is ; -

(A) Changing lives (B) Looming energy crisis \/
(C)  Energy resources . (D) Power in today’s world

(A) TEaq eq (B) @t dae deqmy

(C) T & am (D) o &t gfrar # gfy

Biomass is an CNergy source used in -

(A)  Agriculture (B) Industry (C) Homes : / (D) Offices
é?iwqaasﬂf@?%ﬁmﬁwﬁwér

(A) i (B) waErT (C) = # (D) Twr
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79. The energy sources for the future are ;

(A) Nuclear and hydro power (B) Coal and natural gas
" / (C) Wind and solar power \/ \/\ (D) Oil and biomass

i & forg st & 2

(A) T ofk s aifd (B) @®iFan &R mefes e

(C) Tav iR Er afts - (D) & 3R 7 g9

80. The survival of mankind will depend on :
(A) Maximum use of available energy resources
(B) Transition to sustainable energy resources
(C) Regulation placed on energy consumers
(D) Keeping the level of energy production constant
AT ST B gereiaar (KR B
/(A s T g % o ewd W
v (B) tea s G 4 aie R @

(C) Tt susdmprall ot arftfagm @y @
(D) T TeTed @ & Ry my m

Directions for the following 2 (twoe) items no. 81 and 82 :
Read the information given below and answer the two items that follow :

There are 120 musicians in a club and 5% of them can play all the three instruments viz.
guitar. violin and flute. It 50 happening that the number of musicians who can play only
two of above mentioned instruments is 30. The 40 -musicians can play guitar alone.

frreferfere 2 (3T) wemistt (Fo 81 of 82) % forg fader
wrel &1 E S @ 3 3T IHE vy A AT &1 Syt % o S

% 37 7 120 FAwHR & $ll I8 & 5% @ il & @ frer, anfe oiv atgl # a9 aa #)
Te HAFEY § o o Siiaent & 9@ 30 & 9 R Ry 73 =5 § § %99 3L 3 a9 96y 2w

frer oo oot o Sfee 408~ D - § ST
-3 i i I ;’.‘}/*21 N
’/g‘i\ The musicians who can either play violin alone or flute alone are : N TR
L e ' )
(A) 40 (B) 38 (€) 44\7‘::_’ D) 46 4. G6>YU®
S T, S AT A S gt 91 Faw STl oo 5E 5, o gk < q\'r
(A) 40 (B) 38 0 e | B 40 @Q
703/A 2% O,ﬁ

T R TN S R T

A T e 7 AT T BT g e 7o o s rapi -
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£ )
/ The musicians who can play only one or aj] three insmrmm_t_s, are :
Z/ - (A) 106 (B) - 90 (C) 88 (D) 86
S Ffasny, tﬂﬁrmqa?mmﬁﬁﬁ%ﬁamwﬁ%z B T
(A) 106 (B) 90 (C) 88 - (D) 86

83. Ina factory capacity of a solution tank A is 70% of the capacity of the another tank B. If
Tank A’s full capacity is 14000 gallons and at one particular moment it is 80% full and
Tank B is 40% full. How many more gallons of solution are in tank A than in Tank B ¢
o 9, (A 4200 Gallons (B) 3200 Gallons,/ '«
+ "% (C) 2800 Gallons (D) 6300 Gallons
)?”;Z @Wﬁ%%%AﬁWW%BE:’%&-i‘ﬁmﬁ?ﬂ%%lwﬁﬁA%rﬁﬁgﬁm14000
e ﬁm%ﬁwwmwwse%%w%aﬂrhﬂ 40% ST EIT 81 5 A & 3% B 7% army
AN 8 % fber smar de & 2
///,9 \‘P/ (A) 4200 e (B) 3200
T

Wﬂ,&‘/ (C) 2800 7 (D) 6300 e
)
%‘ABCD i$ a square of side 242 cm and M. N are mid points of sides AR and AD

% \/ respectively. ThE‘I]/T.JIC perimeter (in ¢m) of trapezium BDﬁM so formed. is : 4 WU R
Y @ 263 B) 222+ +2) o 5
9/ (€) 2(1++/2) (D) 2(1+3-/2) d s
/ ABCDamzﬁmeaﬁ%eme,wa:gmeﬁmeﬁ?m%qw%%ﬁﬁ%ﬁm
W@W(W}BDNMWW(M%%:

| I

(A) 23 ++2) (B) 22+ 2) W P

(€) 2(1++2) D) 2(1+3472) (mﬂ-d‘fﬂ/a O,
o RUS/

85. The least multiple of 7, which leaves g remainder of 4, when divided by 6.9. 15 and 18,
. —t d T

7 18: 1 —
w13 ®) (704 ;;4 © 364/ /" @) 94> (L5
A 7 F 98 T orr 7y 2 9T 6. 9, 15-3%118%%%%%%%:%%4%%?
(A) 844 (B) 704 (C) 364 (D) 94

Directions for the following 5 (Five) items no. 86 to 90 -
Read the information given below and answer the five items that follow -
The five cities A, B, C. D and E are connected by different modes of transport as follows -

(1) AandB by boat and rail ~) P

(i) Cand D by bus and boat Q 5 g & ,
(iii) B and E by air only % :fo*’”j;f{’; £
(iv) A and C by boat only 3 & o
(v) Cand E by rail and bus ~—~+—;;”’_'_;,, R o
703/A Lf’jﬁj
AL et
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freferfad 5 (9TE) wedislt (Ho 86 & 90) & fory forder
AT 3 E A & 9fT 3R SUS 99EIg A 10 g FEEiet & SO Ei -
of9 & A, B, C, D 3R E uftae & fafdnt alier gn e v & oo # gg gu € -

A

(i) A ¥R BT 3R aW jﬁr”““\
(i) C IR D 99 3R 79 &1 B’B\IQ,J{,P #
(iii) B &R E %3 fqu= am
(iv) A &R C F9d 719 810
(v) C3RE &R 9 &0

86. Without changing mode of wransport, which mode of transport would help one to reach C

starting from B ? o /
&) Air (B) Bus (C) Rail (D) Boats
aftae & a0 &1 g0 R, oReew & Fr- alw Bl & B & W9 306 C o ey # e
& ?
_(A) (B) = ©) W@ (D)
B';’./ /Ifa person visits each of five cities starting from A, which city he visited twice ?
(A) D B) C \/ € B D) A
7 TF ARE, A T T 6 TS 8T B IE A 8, T BHE-§ T8 P ITET o I A8 7
(A) D B) C (C) B D) A
/8 Between which two cities. maximum travel options are less than four ?
\./ \/ 7 'V/)
v @) ®B.D) (B) (A,C) (©) (B.C) (A.B) (A0
®-4 21 9N % A1 e T Rem an § 7
(A) (B,D) (B) (A, C) (€) (B.C) (D) (A, B)
88. Which pair of cities are direztly connected ?
/ (A) (A,E) (B) (A,D) (C) (B,D) @) (B, E)* \/
el &1 98 Hi-81 T 2 s o amew A A g € 2
g (A) (A E) (B) (A,D) (C) (B,D) (D) (B.E)

90. ) The cities where one can’t travel by air, are :
s

-—n

T (A) AB (B) A,D,E (C) A,B.E (D) A.C.D -~

f i e
\/ 7 yEt BH-§ & 9@ 2 off s fomm awr w7 o g ?
(A) A, B (B) A,D,E (C) A,B,E D) A,C,Dy/
703/A BT, O,
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Directions for the following 5 (Five) items no. 91 to 95 :

Read the information given below and answer the five items that follow :

In another tragic Indian Air Force accident, a Mirage 2000 trainer aircraft crashed
01/02/2019 after taking off from Hindustan Acronautics Limited airport in Bengalyr
Killing two IAF officers. This aircraft was upgraded by Hindustan Aeronautics Limite
This aircraft crasheg soon after taking off. suggesting a possible problem with Jandin

gear. The accident adds to a growing list of JAF aircrafi crashes in recent years. Th

Bengalury mishap comes days after a Jaguar fighter crashed in UP’s Kushinagar. Alj o
this is indicative of 3 deeper problem with aircrafi inventory and maintenance. It's we]

known that IAF has a se\«'ere.sﬁortage of aircrafis. It’s down to 30 fighter squadrons
which in another few years will be whittled further to 26. This has created 3 Situation.

The ‘Jugaad’ approach simply cannot continue. It Lndermines our defence preparedness
and put our officers at risk. We need to ramp up indigenous production and create an
American-style military-industria] complex. This requires greater participation of the
private sector. Defense PSUs have a terrible track record ag exemplified by the Light
Combat Aircrafi Tejas project, which has taken more than three decades o reach the
induction phase,

Freaforfem 5 (TTe) Westisit (5o 01 # 95) % fore Frer -

ik

703/A

W%Wmﬁ@w%qeﬁtmwmaﬂ%mﬁagwﬁ%m%:

weﬁ:%mﬁqagh%rg:mgﬁmﬁqm%%% e T 01/02/2019 B FIEE F
WW%W@HB@%%WWQWW?MFMW@W

g%sr%gsmﬁwmwﬁw%gﬁwm@ﬁ@ﬁﬁmgﬁrawwﬁmﬁa-
qﬁraﬁrmmmm&mmﬁaﬁwmm&w&m%%ﬂﬁmwam
Wﬁww%iﬁ%wmmso TG T & 5 6 38 St st F -9 ot 26
%ﬁﬁﬁﬁlquﬁﬁﬁmaﬁ% BT S9! O fem S frr 2000 B T Frmsii
?ﬁw-mfﬁﬁwﬁ%ﬁq-\mmﬁ@ml ﬁrvﬁgma@:&rﬁﬁﬁﬁaﬁrﬁmﬁﬁwm
ﬁgﬁvwﬁ%ﬁmﬁ%ﬁﬁ#mﬁ%rﬁmsﬁmmwﬁaf’rrr{af
aﬁﬁwam-ﬁﬁaﬁ@amm&mm%rmmﬁaﬁamaﬂv-sr@a;%@m%r
ma%ir&w%mﬁéﬁmﬁa)sm)wﬁwmﬁwra:ﬁméa@m%ﬁﬁw%ﬁm
Wﬁﬁéa@@mmm%mﬁsrwﬁ@%ﬁaﬁaasw?%r‘srfﬁzswwér%mr
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8i. The name of aircraft crashed in Bengaluru on 01/02/2019 is : /

/. (A) Jaguar2019  (B) Airbus320  (C) Mirage 2000 (D) Tejes2019
TS & 01/02/2019 %7 FHEATIR 2 aTd = &1 A &
(A) THFR2019  (B) UFEH 320 (C) st 2000 (D) 992019

; ] :';
(95 ) The approach used to increase the lifespan of aircraft is :

» L\-f/ (A) Total overhauling (B) Jugaad
(C) Upgrading internal technology (D) Changing all def'eutlve parts
fama & Fg-cef # e F R & ogh ¥
ﬁ\ (A) Tf @ ¥ S &R TR B (B) I
(C) 3TaRe Ta1E T o7 M (D) &t Twqel /AT & g
93. To setup, American-style military-industrial complex in India. which sector’s
participations are suggested ? . T
‘.// ~(A) Government sector (B) Private sector * /
‘ (C) Autonomous bodies (D) Semi government sector
I # o S T Af e dew e B § R i A R B g Ry E
(A) G &5 (B) <t &=
(C) @re e (D) ¢ T &7

7N

94. / At present the number of fighter squadrons 1AF has :
(A) 25 (B) 26 (C) 28 (D) 30
A ¥, [AF % 9T 7e1E Walgn! i G §

B (A) 25 (B) 26 - (C) 28 (D) 30 \/

85. The aircraft crashed in Bengaluru was upgraded by :

“‘%@

(A) Central Govt. military workshop in Delhi
(B) Bengaluru Aeronautics Limited

\/ (C) Hindustan Aeronautics Limited - b/
(D) Pune military-industrial workshop
dTe H gHEATId gu I o feee eryde far ar 7
(A) FHT T@r §vs adhe T, et
(B) rge Taiey fafiee
(C) Tegem QAmeaw fufkes @
(D) 3o &9 afrefis aheng

703/A ' P. T. 0.

e T T T e T T T TR TR S T T O TR R e e T e i Y T e T T e DN IS T £ e T P e T e TR - e Wy ST | A
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96. The day of the week. on birth of Harvana state i.e. on 01.11.1966. is :

\/ (A) Friday (B) Saturday (C) Mondax (D) Tuesday - /
R U @ SRy o W 01.11.1966 |, awE & B L
(A) T (B) afmEmr (C) WMar (D) TEER

9? "A sum of Rs. 2,100 has to be used to give seven cash prizes to the students. If each prize
is Rs. 20 less than its preceding prize. then number of timas the maximum prize amount is
more than minimum prize amounts. is :

(A) 12 (B) 1.3 @ 15 o/ (D) 2

FREnf 1 W e gER 3 % RN 2,100 99 @ aafy w2 2 a3 aR i e e
%WWWHZOWW%HN@WWN@H T =gy qEepr At & e qom sy 2 7

(A) 1,2 (B) 1.3 (C) 1.5 (D) 2

98. If the interior angles of five-sided polvgon are in the ratio i 3.: 4 : 3 then sum (in
degrees) of measures of smallest and largest angles, is : B -
(A) 216 (B) 252 (C) 108 (D) 324

aﬁwgmﬁﬂéa—maﬁml P4 15 % oguT H €, o I ofk gy B & Ha
;) 1 3 (et &) 8 > &
) 216‘/\/ (B) 252 (C) 108 (D) 324 é@ggb

A sum 01" Rs. 10 1s lend to be returned in Il monthly instalments of Rs. 1 cach. interest 'L"

-'(fA'; 9—% (B) 10% (C) 21%% / (D) 22% (. r(, ri'
/.

1 BT 10 ﬁw SIS WYRY S W, §l% 699 1 B 11 Wi RRedt # aifvw & % Rrg oo &
/ AT 81 TS T e i A R

1 . 9
(A) 9—% (B) 10% © 21=% (D) 22%

}
f/z There are 65 students in the class and Rs. 39 are to be distributed among them so that each
boy gets 80 Paise and each girl gets 30 Paise. The ratio of number of bovs to number of
girls in the class, ,1%_‘

(A) 3122 B) 4:1 (C) 2:3 (D) 1:4
U F6TH 65 a3k 39 Tt F1 o d 5 vew Rafr R o @ R vl wes A 80
q@rﬁw%ai‘r{mrﬂsﬁﬁsoﬁﬁwéianﬁwwamﬁwnw%

(A) 3:2 (B) 4:1 (C) 2:3 (D) 1:4

703/A
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